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Topic:- Child Development & Pedagogy (CDP)

1) Claustrophobia is a fear of enclosed places. It is an example of : / Wﬁﬁﬁm Ty R &1 Th SN %I TIPT Uh 3IqIerur %:
1. Global Developmental delay / dfRres faera aF &

2. Obsessive-Compulsive Disorder/ SJfel-aregep T faeh

3. Anxiety disorder / da &R

4, Autism / 3ifes#

Correct Answer :-

« Anxiety disorder / ddd @R

2) In “heuristics,” the child is free to go for any kind of possible rules or ideas to reach the solution. This rule is called as:/ “WI':[MTﬁTﬁ e yomTert” ﬁ, T
T a9 Uga F o foplt of yoer & wnnfaa fraw sryar R &Y weraar @ wea €, 39 o &1 a1 w1 o 82

1. rule of thumb/ HFHAAE TIH (¥ 3T I)
2. differentiated rule/ AT H=er

3. mimicking rule/ 3eJehI0T s

4. cognitive rule/ HATATCHE et

Correct Answer :-

« rule of thumb/ 3FHATHE A (¥l 3HTE o)

3) Which is not the step of scientific method? /
fFrafiTea & 9§ S19-1 I yomelt o1 aRor T 22
1. Experiment / W=1aT

2. Interview / HI&TTchIY

3. Prediction / q@THT
4, Observation / 3ddlichel

Correct Answer :-

o Interview / HI&TTcPR

4) According Jean Piaget, children develop abstract logic and reasoning skill during __ ./
e R & @R, ¥ ahe aeat # anpd aF 3k aF wha Refa o §

1. Concrete operational stage / [ HRAATCHD IaTAT

2. Formal operational stage / 3ftuarRes @frarcas raear

3. Preoperational stage / qd-@ftrarcas 3m@eam

4. Sensorimotor stage / HIG W )FadAC( IAEAT

Correct Answer :-

« Formal operational stage / 3U=mies AfohdTcas rawam

5) A self - directed learning process is arguably the most powerful model for facilitating and inspiring individual, group and organizational learning and development. It means
learners /



% wa-fdfa sftew wfikn, safFaa, it sk wremens siftor sik Rew i glawr i Aoade aew aFaurh Atsa ¥ 5w AdaT §
& srftemsat _ |

1. take responsibility for learning and become goal oriented / 3fAITH & FFFAERY o & 3R H&W AT &I
2. compete with others / q:FR’f & Y gfaeadt aar gl

3. achieve the best scores / 37T URUTHA UTH &l %I

4. enjoy learning / 3TTAITH &7 3G o T&T &l

Correct Answer :-

« take responsibility for learning and become goal oriented / 3T Hr TFASRY T & 3R F«T&-’JTF@@ T B

6) In which stage of psychosocial development does the child feel shame and doubt? / Hﬁ%ﬁm fopra & fog =@xor § 9= 31 I iR e He¥™ g %?
1. Preschool / WiEgel

2. Adolescent / forNRTaEAT

3. School age / ¥l 3Tg
4. Early childhood / J&3TCAT aTeehTer

Correct Answer :-

« Preschool / UTeegel

7) Proper sex education should be rendered at ___ stage. /3T dlar fRraw __ 3rgvyr W yeeT 1 A= Gif@wl
1. Childhood / STegehTel

2. Adolescence / foRIRTaEAT

3. Adulthood / 9IFHh

4. Early childhood / URTH® sTedemrer

Correct Answer :-

« Adolescence / foReTRTaEAT

8) The ‘Hypothesis of Critical period’ was proposed by ./ ‘Fgcaqet afe i aRwedr ¥ ganT yEaa v T of
1. Helen Keller / 1 hoolX

2. Noam Chomsky/ STe aieTahT

3. Bloomfield/ &Fjﬁcﬁ o34
4, Eric Lenneberg/ TRe S=Taar

Correct Answer :-

o Eric Lenneberg/ T I AddIT

9) Who is credited with the concept of Intelligence Quotient (IQ)? / gaj'?‘.r AT (1Q) Y 3raerom F71 4 R AT STaT#?
1. Theodore Simon / AR RIETC)

2. Spearman / TIRRAT

3. Alfred Binet / 37e%hs o

4. William Stern / faforas Tea

Correct Answer :-

. William Stern / Fafor—r#® T



10) According to Piaget, intellectual growth occurs through adaptation to the world. This happens through: / Rarer & IR, mff iCEar:s gﬁ'ﬂT &
FIFeS F ATEAA § @aT ¢ I Frwd AmeId F @ 82

1. Absorption and Accommodation / 3TaRITTOT 3R gHST (TRASeA)

2. Acquisition and Autocorrelation / TUTA 3R Tad: Tgaay

3. Assimilation and Accommodation / 3TcHATCAUT 3 THIA (THIASA)

4. Assimilation and Acclimatisation / STETEIEHRUT 3R Hthp(’H

Correct Answer :-

« Assimilation and Accommodation / 3TcaHTCHIOT 3R HIFST (THASAA)

11) According to Albert Bandura, the process that is involved in acquisition, organization and use of information is called process. / 3TedE E§TI' *

AR, TE THAT S FE F Hfereor, Worsa AR 3wl F nfarer @ B 3@ WA FeT AT g
1. Cognitive / IJHTIHED

2. Affective / GHTET

3. Self regulation/ ¥ gt

4. Motivation/ 9RO

Correct Answer :-

« Self regulation/ ¥ fezatet

12) What concept of conservation focuses on the amount of a substance that exists? / ST & i &1 Rgeia B AleEr ward i amn w R &2
1. Weight / asi

2. Area / &%l

3. Mass / gcgdATd

4. Length / oam$

Correct Answer :-

¢ Mass / GeIAH

13) What cognitive ability are children displaying when they attribute human-like qualities to objects? / ST HieT-Ht HAATCAS &TAdT gef W & o9 9
TEGIHT F A O F AT FA §?

1. Egocentrism / 3&HT (FMATegsd)

2. Conservation / T&TOT
3. Animism / S{igdrg,
4. Object permanence/ d&q € B

Correct Answer :-

o Animism / S{ddrg

14) Some children experience excessive anxiety at being away from home, even after a long period of time. What might they be suffering from? / G T e

AT TF WA QT WA F a6 off, W & W I3cafF [Rar 1 aregoa w1 ¢ 3 v & AT o a=a &2
1. School phobia / Tl HIfaAT

2. Social anxiety / @T&TfoTen far

3. Conduct disorder / 3TaR0T fdhR

4. Separation anxiety / 3Tel9Ta &1 TidT

Correct Answer :-

« Separation anxiety / 3Ter9Tg &Y fid



15) An example of self-report measures of personality is/ SqTFdea F HeA-NAE YT FT T 30T §:
1. MMPI / THTATSTE

2. Sentence Completion Test / dTeF t{\U;f g&Tor

3. Rorschach Test / 38T gdiaTor

4. TAT / &Y

Correct Answer :-

« MMPI / GHEHNNE

16) Intense mood swing is a characteristic of / it 7z Feaar =1 1 wwator &:
1. Learning disorder / 37fQaTeT 37873

2. Bi-polar disorder / ﬁ'ﬂfﬁ' ipEary

3. Conduct disorder / 3TaRUTITd fadR

4. Anti-social personality / TSI < fhed

Correct Answer :-

« Bi-polar disorder/ﬁ"*'g?ﬂ JPR

17) Which of the following best describes Maturation of a learner? / RF=ifaf@a & ¥ a1 v Rrameft A aRuzFaar &1 g9 o1 qoia wwar &2
1. It is a continuous process of individual development/ IE AR fadmr & T Tad ufshar &l

2. It is related with cognitive capabilities/ T& HIATATCHD &THAAAT T TATAT gl

3. Specific environment is required/ fFIfIE ardT@aRoT Hr IMTLTRAT BT T

4. It takes place at specific age/ Ig TafRrE 3 A grar 8l

Correct Answer :-

« Itis a continuous process of individual development/ I gftherd g & T Tad uftkar %’I

18) Which type of memory takes special account of context? / FE yeR @ Fﬂ'ﬁf weel 1 Ay e @ 82
1. Iconic memory / ufaf8a fa

2. Echoic memory / gfaeafa i

3. Episodic memory / 9r&fiies FHfa

4. Sensory memory / HAGT ﬁ{ﬁ

Correct Answer :-

« Episodic memory / WrEfaIes Ffa

19) Students who disturb others in a classroom are likely to have type of learning style./ SIT ST H&T # @'{T FY GATT FIST § 3T TR
YHR A @@ f deht @ Y warraan g ¥

1. Kinesthetic/ IIfATAET (Preaedfes)
2. Tactile/ TULTNT (Srersel)

3. Auditory/ 40T

4. Visual / €T

Correct Answer :-

« Kinesthetic/ TMATAET (Freaedfes)

20) Who carried out an experiment on memory involving nonsense syllables? / s Tfa W va water fran, e awamw ersarer anfaer 32



1. Ebbinghaus / Tfeserara
2. Atkinson / Tefhae

3. Posner / GRIeR

4. Calkins / @TaIfrd

Correct Answer :-

« Ebbinghaus / wfegeramd

21) Who proposed the concept of zone of proximal development? / fAFery AFE & &7 A HTUROT FT yFd@ Faa w@r?
1. Abraham Maslow / 3TSTga FATEGT

2. Lev Vygotsky / o1d argaicaehr

3. Carl Rogers / Prel AT

4. Albert Bandura / 3edc ET'U§T[

Correct Answer :-

« Lev Vygotsky / oI argailcael

22) The spinal cord develops earlier to the heart. This is because of the operation of the following tendency. / g ¥ EE?I Feuik:) ‘I:é' Refaa gt ¥ 37
BT ygfr & wares & FROT e 8

1. General to specific / GTHATT o e T

2. Cephalocaudal / fthaliesger

3. Proximodistal / AT

4. Part to whole / 19T & H’C{U‘f GEIRCI [ BieT)

Correct Answer :-

« Proximodistal / WA ST

23) The following is an example of a secondary reinforcer. / ﬁmﬁ@aaﬁ?ﬂumgammwm%l
1. Ice cream / 3T

2. Dress / q1Mh

3. Money / 91

4. Juice / TH

Correct Answer :-

* Money / 4geT

24) Maladjusted children are generally seen in / HTHTTI: m T Tgl 3@ w9 &
1. Broken family / @y @R &

2. Rural areas /3mafior &=t &

3. None of these /3T & Eﬁé e
4. Poor family / g gRar &

Correct Answer :-

« Broken family / fa@y gRar #

25) One learns to use one’s muscles and acquires a skill due to: /

T gfFd, AR FT1 39AT w1 AEar § 3K s9F FROT TF wlere o Far ¢



1. Maturation /
RO

2. Exercise /
HE

3. Learning /
T

4. Parents’ force /
HIRATEDT HT AR

Correct Answer :-

¢ Maturation /

26) During the emergence of language, the ‘jargon’ period is present during / ST & 3T & NI, “Aregatrel AT A" 3afd 3@ el &l &
1. Nine months to one year / & g ¥ Th a§

2. Birth to three months / 3= & i AL

3. Three to six months / e & ©: FH

4, Six to nine months / &: ¥ Al FLA

Correct Answer :-

 Six to nine months / &: ¥ A FHA

7 During the first half of the 20th Century, ______ students, those identified as having special needs, received few or no special
services in the schools.20 / ft erATedl F Tg SARI Falrer,  a1al, [ ggare ey 3maeasdr @A ardl & &9
# #1 7¢ oft, 37 TRl A Fo A1 FS QAAY Ja1 ¢ A o

1. Above average / 3rad & 31fA®

2. Exceptional / 3THTYROT

3. Mentally retarded / ARG & ¥ g

4. Poor / TG

Correct Answer :-

« Exceptional / 3THTYROT

28) VARK model of student learning was proposed by: / BT 3If831 #T ai% HAisd 3% earT grarad far = o
1. Kohlberg / TigedT

2. Neil Fleming / &reT el faiaT

3. Piaget / foarat

4. E. Erikson / ¥, SRag

Correct Answer :-

« Neil Fleming / et wXfaiaT

29) Which of the following is the best way for parents to support and help children cope with failure? / AFIfaf@a # q Fia-ar HﬁT—ﬁHTE?RT
Foal & FEGAaT ¥ Aved # gAdT R 3R I Aeg A F T ST ST

1. Create a comforting environment for the child to engage in another activity to forget their failure / JAD! SIAHET B ’ﬁ[ﬁﬁ & foru = o) et o wifafafd & g s
?Q & SRMERS URIR &1 fufor B



2. Listen, empathize, then focus on opportunities to learn, not abilities / FeT<TT, H’e‘-‘lﬁﬂ-;'ﬁ @, R W@ & AR W A1 digd B, d &
STAAT3T W

3. Create an environment for our kids that shelters them from potential failure or disappointment/STEI?T F=dt & fow @ afaer & [aEor & S
Ioe GHITAT 3rE®adT a1 AR § g9

4. Push kids beyond their capabilities / Sedi 1 ITab! TS T TR e AT G BTl
Correct Answer :-

« Listen, empathize, then focus on opportunities to learn, not abilities / GeA<TT, HeTeg3ffa 1@, R Hi@a & 3aw W A1 Siga o, &6
STHATIT W

30) Inquiry approach method develops the ability of learners for / T&dT® e fafy d QT&I'I‘fﬁ HfEF ﬁl‘l;' &aT 31 faerg EﬁT %:
1. Using the experience of a teacher / Teh f1&Teh & AT BT ST AT

2. Assimilating more information in less time / PH FHAT H 31{AR FATAPRY Dl 3TcHATT T

3. Experimentation / 94T

4. Maximizing verbal learning / T 31fQ913T 1 STacdst AT d derar

Correct Answer :-

« Experimentation / OR=ANaT

Topic:- General English(L1GE)

1) Fillin the blank with the correct option in the given sentence:

The ‘run’ of courses in an educational institution is called its --riculum.
1. epi--

2. trans --

3. cur --

4, pre --

Correct Answer :-

2) Fill in the blank with the correct option in the given sentence:

The subway system was designed to be expand --.

1. --ablity
2. --ing
3. --able
4, —-ings

Correct Answer :-

e --able

3) Which of the following options best combines the given sentences?

Dogs are friendly. Cats aren't friendly.
1. Dogs are friendly but cats aren't friendlier.
2. Dogs are more friendlier than cats.

3. Dogs are friendlier than cats.



4. Cats aren't so friendlier than dogs.

Correct Answer :-
« Dogs are friendlier than cats.

4) Choose appropriate articles for the given sentence:

_____important element in telling _____story is following ____ time or chronological order.
1. The ... a ... no article required

2. No article required ... the ... no article required

3.An..a..a

4. An ... no article required...the

Correct Answer :-

5) Choose appropriate article for the given sentence:
After the show was over we used van to go back home.
1. an

2. the

3.a

4. no article

Correct Answer :-

6) Choose the appropriate option that rewrites the given sentence in its passive voice.
I bought two cans of fruit.

1. Two can of fruits was bought by myself.

2. Two can of fruit was brought by |

3. Two can of fruit has been bought by myself.

4. Two cans of fruit were bought by me.

Correct Answer :-

« Two cans of fruit were bought by me.

7) Choose the appropriate synonym for the highlighted word in the given sentence.

Eric was infuriated when he found out that ink had been poured over his assignment that he had worked hard on the previous day.
1. blissful

2. incensed

3. worried

4. calmed

Correct Answer :-
« incensed

8) Choose the appropriate tense to fill in the blanks in the given sentence:



Yesterday I to the market, although it .
1. goes... is raining

2. go... rained

3. went... is raining

4. went... was raining

Correct Answer :-

* went... was raining

9) Choose the appropriate tense to fill in the blank in the given sentence:

Tonight, I a letter to the coach to provide better facilities in the locker room.
1. have been writing

2. was writing

3. am going to write

4, had been writing

Correct Answer :-
« am going to write

10) Choose the appropriate antonym for the highlighted word in the given sentence.

There is a lot of controversy about cloning.
1. beliefs

2. strives

3. acceptance

4. arguments

Correct Answer :-

. acceptance

11) Choose the appropriate conjunctions for the given sentence.

__ washisstrength______ he was single handedly able to move the fallen tree.
1. Whether ...or

2. Neither ... nor

3. Such ... that

4. Either ...or

Correct Answer :-
e Such ... that

12) Choose the appropriate determiner for the given sentence:

In spite of ____ opposition, he had to surrender eventually.
1. less

2. much

3.no

4, little



Correct Answer :-

¢ much

13) Choose the appropriate prepositions for the given sentence:

Every minute, three billion cells ____a little girl’s body is being replaced _____ new ones.
1.in ... for

2.in ... by

3. of ... through

4. from ... with

Correct Answer :-

14) Choose the appropriate indirect speech for the given sentence:

“l am here to bury Caesar, not to praise him” said Mark Anthony

1. Mark Anthony remarked that he was there to bury Caesar, not to praise him.
2. Mark Anthony remarked that he is here to bury Caesar and not to praise him.
3. Mark Anthony was here to bury Caesar and not to praise him.

4. Mark Anthony said | am here to bury Caesar and not to praise him.

Correct Answer :-
« Mark Anthony remarked that he was there to bury Caesar, not to praise him.

15) Choose an appropriate modal for the given sentence:

I go to Delhi day after tomorrow if I get the reservation.
1. would

2. might

3. may

4. can

Correct Answer :-

* might

16) Choose the option that best explains the highlighted expression:
At last our work is bearing fruit.

1. producing fruit

2. producing a positive vibe

3. producing good or successful results

4, reaping a burden

Correct Answer :-

« producing good or successful results

17) Choose the most suitable pronoun for the given sentence:
I found this book in my cupboard. Is this book ?

1. their



2. your
3. yours

4. my

Correct Answer :-
e yours
18) Read the content carefully and answer the questions given below it:

A gentleman once advertised for a boy to assist him in his office, and many applied. After a short time, he chose one among them. When asked why he
had chosen that boy, the gentleman said, “He wiped his feet when he came in, and closed the door after him, showing that he was orderly and tidy. He
gave up his seat instantly to that lame old man, showing that he was courteous. He lifted up the book, which I had purposely laid on the floor, and
placed it on the table. When I talked with him, I noticed that his clothes were neat, his hair well combed, and his teeth very white. When he wrote his
name, I observed that his finger-nails were clean; he waited quietly for his turn. Therefore, I chose him”.

The boy was courteous because:

1. He offered the gentleman some gifts

2. He wished the gentleman as he entered the room
3. He asked the gentleman about his health

4. He gave up his seat instantly to a lame old man

Correct Answer :-
« He gave up his seat instantly to a lame old man
19) Read the content carefully and answer the questions given below it:

A gentleman once advertised for a boy to assist him in his office, and many applied. After a short time, he chose one among them. When asked why he
had chosen that boy, the gentleman said, "He wiped his feet when he came in, and closed the door after him, showing that he was orderly and tidy. He
gave up his seat instantly to that lame old man, showing that he was courteous. He lifted up the book, which I had purposely laid on the floor, and
placed it on the table. When I talked with him, I noticed that his clothes were neat, his hair well combed, and his teeth very white. When he wrote his
name, I observed that his finger-nails were clean; he waited quietly for his turn. Therefore, I chose him”.

What was the advertisement for?

1. To get an assistant for the gentleman in his office
2. To get a partner for the firm

3. To employ a peon for the office

4, In order to advertise the company’s products

Correct Answer :-
« To get an assistant for the gentleman in his office
20) Read the content carefully and answer the questions given below it:

A gentleman once advertised for a boy to assist him in his office, and many applied. After a short time, he chose one among them. When asked why he
had chosen that boy, the gentleman said, "He wiped his feet when he came in, and closed the door after him, showing that he was orderly and tidy. He
gave up his seat instantly to that lame old man, showing that he was courteous. He lifted up the book, which I had purposely laid on the floor, and
placed it on the table. When I talked with him, I noticed that his clothes were neat, his hair well combed, and his teeth very white. When he wrote his
name, I observed that his finger-nails were clean; he waited quietly for his turn. Therefore, I chose him”.

What is the passage all about?
1. How to attend an interview?

2. Fashion and grooming

3. Boasting of one’s knowledge

4. Importance of good grooming and manners



Correct Answer :-
« Importance of good grooming and manners
21) Read the content carefully and answer the questions given below it:

A gentleman once advertised for a boy to assist him in his office, and many applied. After a short time, he chose one among them. When asked why he
had chosen that boy, the gentleman said, “He wiped his feet when he came in, and closed the door after him, showing that he was orderly and tidy. He
gave up his seat instantly to that lame old man, showing that he was courteous. He lifted up the book, which I had purposely laid on the floor, and
placed it on the table. When I talked with him, I noticed that his clothes were neat, his hair well combed, and his teeth very white. When he wrote his
name, I observed that his finger-nails were clean; he waited quietly for his turn. Therefore, I chose him”.

According to the passage, which of the following sentences is TRUE?
1. Only two applied for the post

2. Many applied for the post

3. Three boys applied for the post

4. One boy and two girls applied for the post

Correct Answer :-

« Many applied for the post

22) Read the sentence carefully and choose the option that has an error in it:
After having dinner, I felt badly and had to be taken to the hospital.

1. After having dinner,

2. and had to be taken

3. | felt badly

4. to the hospital.

Correct Answer :-
o | felt badly

23) Read the passage and answer the question that follows:

After lunch, Susie played for a while by the brook. She threw sticks into the water, and Rover swam in gleefully and brought them back. Then she began to pick berries again. She
did not enjoy the afternoon as she did the morning. The sun was bright, the berries were sweet and plentiful, and she was neither tired nor hungry. But good, faithful Rover was
hungry, and she had not given him even one piece of meat. She tried to forget how self-centred she had been and quite early she started for home. When she was nearly out of the
woods, a rustling in the underbrush attracted her attention. "I wonder if that is a bird or a squirrel," she said to herself. She wanted to catch it and tried to make her way quietly
through the underbrush, but she was terrified when she saw a large snake coiled up before her prepared for a spring! She was frightened so much that she could not move. But
valiant Rover saw the snake, and springing forward, seized it by the neck and killed it. When the faithful dog came and rubbed his head against her hand, Susie put her arms
around his neck, and burst into tears. Rover understood and capered about in great glee, barking all the time. You may be sure that he had a plentiful supper that evening. Susie
never forgot the lesson of that day. She soon learned not to be selfish and became a happier and more endearing little girl.

How did Rover show his bravery?

1. He jumped on Susie and tried to protect her.

2. He sprang forward, caught the snake and killed it.
3. He went into the water and fetched a stick.

4. He rubbed his head against Susie’s hand.

Correct Answer :-
« He sprang forward, caught the snake and killed it.

24) Read the passage and answer the question that follows:



After lunch, Susie played for a while by the brook. She threw sticks into the water, and Rover swam in gleefully and brought them back. Then she began to pick berries again. She
did not enjoy the afternoon as she did the morning. The sun was bright, the berries were sweet and plentiful, and she was neither tired nor hungry. But good, faithful Rover was
hungry, and she had not given him even one piece of meat. She tried to forget how self-centred she had been and quite early she started for home. When she was nearly out of the
woods, a rustling in the underbrush attracted her attention. "I wonder if that is a bird or a squirrel," she said to herself. She wanted to catch it and tried to make her way quietly
through the underbrush, but she was terrified when she saw a large snake coiled up before her prepared for a spring! She was frightened so much that she could not move. But
valiant Rover saw the snake, and springing forward, seized it by the neck and killed it. When the faithful dog came and rubbed his head against her hand, Susie put her arms
around his neck, and burst into tears. Rover understood and capered about in great glee, barking all the time. You may be sure that he had a plentiful supper that evening. Susie
never forgot the lesson of that day. She soon learned not to be selfish and became a happier and more endearing little girl.

What was Susie doing by the brook?

1. She was throwing sticks into the water.
2. She was sleeping on the grass.

3. She was walking up and down.

4. She was reading quietly.

Correct Answer :-
o She was throwing sticks into the water.

25) Read the passage and answer the question that follows:

After lunch, Susie played for a while by the brook. She threw sticks into the water, and Rover swam in gleefully and brought them back. Then she began to pick berries again. She
did not enjoy the afternoon as she did the morning. The sun was bright, the berries were sweet and plentiful, and she was neither tired nor hungry. But good, faithful Rover was
hungry, and she had not given him even one piece of meat. She tried to forget how self-centred she had been and quite early she started for home. When she was nearly out of the
woods, a rustling in the underbrush attracted her attention. "I wonder if that is a bird or a squirrel," she said to herself. She wanted to catch it and tried to make her way quietly
through the underbrush, but she was terrified when she saw a large snake coiled up before her prepared for a spring! She was frightened so much that she could not move. But
valiant Rover saw the snake, and springing forward, seized it by the neck and killed it. When the faithful dog came and rubbed his head against her hand, Susie put her arms
around his neck, and burst into tears. Rover understood and capered about in great glee, barking all the time. You may be sure that he had a plentiful supper that evening. Susie
never forgot the lesson of that day. She soon learned not to be selfish and became a happier and more endearing little girl.

What attracted Susie while she was walking home?
1. Two squirrels were running up and down the trees.
2. There was a rustling in the underbrush.

3. The berries she had picked were very sweet.

4. Rover was swimming in the water to fetch the stick.

Correct Answer :-
o There was a rustling in the underbrush.
26) Read the passage and answer the question that follows:

After lunch, Susie played for a while by the brook. She threw sticks into the water, and Rover swam in gleefully and brought them back. Then she began to pick berries again. She
did not enjoy the afternoon as she did the morning. The sun was bright, the berries were sweet and plentiful, and she was neither tired nor hungry. But good, faithful Rover was
hungry, and she had not given him even one piece of meat. She tried to forget how self-centred she had been and quite early she started for home.

‘When she was nearly out of the woods, a rustling in the underbrush attracted her attention. "I wonder if that is a bird or a squirrel," she said to herself. She wanted to catch it and
tried to make her way quietly through the underbrush, but she was terrified when she saw a large snake coiled up before her prepared for a spring! She was frightened so much that
she could not move. But valiant Rover saw the snake, and, springing forward, seized it by the neck and Killed it. When the faithful dog came and rubbed his head against her hand,
Susie put her arms around his neck, and burst into tears. Rover understood and capered about in great glee, barking all the time. You may be sure that he had a plentiful supper
that evening. Susie never forgot the lesson of that day. She soon learned not to be selfish and became a happier and more endearing little girl.

What was the lesson that Susie learned that day?

1. She learnt that she should be careful while walking about in quiet areas.
2. She learnt not to be self-centered and always think about herself.

3. She thought that Rover was a very sweet dog.

4. She thought that picking berries was a very tiring job.

Correct Answer :-

« She learnt not to be self-centered and always think about herself.



27) Rewrite the following changing the active sent to passive.

Naina probably won't attend the lecture tomorrow.

1. The lecture probably not attended by Naina tomorrow.

2. The lecture probably won't been attended by Naina tomorrow.
3. The lecture not probably attended by Naina tomorrow.

4. Probably the lecture won’t be attended by Naina tomorrow.

Correct Answer :-

« Probably the lecture won’t be attended by Naina tomorrow.
28) Choose the right tag:

Everyone attended the concert yesterday, ?

1. hasn’t they

2. haven’t they

3. has they

4. have they

Correct Answer :-
« haven’t they

29) Choose the option that substitutes the given phrase appropriately.

Lasting for a very short time
1. Ethereal

2. Ephemeral

3. Bubble

4, Eternal

Correct Answer :-
« Ephemeral

30) Choose the right tag:

He loves literature, ?
1.isn't he
2. does he
3. don't he

4. doesn't he

Correct Answer :-

« doesn't he

Topic:- General Sanskrit(L2GS)

Y sreieeay ey #: fawew: sgdifeaamaed
o oafa ?
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galleh! UfScar sreanfafdsesa yeaEd gﬁa;cdi oI -

37eflcT I AT, FARMEATIAD |
SFEHAICT o Sl Gdf FULH T ||
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AT GegIT TR SerT sidsiel dXoig ||

Al dcdsl TaeT dareddAd el HITd |
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37eflcT I AT, FARMEATIAD |

SFEA o ST Gal FOULd J2T ||

HEITAd [RATT A gl AFGFIATY AeeRoig |
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UR=de afScdl Ueeed YGHcR FaAd -

TSI AR f&yd o ariorr 3fa uffed) e raA sifdera
Frefl, §aRE ar| IS gfaA afor RUSAET 5 9T FAfauriET|
W@wmﬁﬁmaﬁ|mﬂﬁw2ﬁ M| siegersar
IGIERIE a@:aqjﬁaaﬁmﬂmﬁrl stﬂ?ﬁﬂ%m:
GEded| AT TN HIETEE  $edied| faeaarrer ufdd gavied
3099 facad| seanfa 3T sgfa donfeeufor o 3 @fed) qud T
ufdfes ATAVT: 37 3NTcT HoTach: [dedeaTEd IRTe=AT Hdfod |

5T DRI $TRAET U W= faegmhegs 310 31|
HEIYATAIAAT: 37T Eel W faegd | 37=can: qfosdr: o3t facer o
AT YTASST Felecl| IHelch HGITEWT: 37T 3T ATeTelle] Teaded:,
FIHIAET Ngede R S8R I fafgdded: | FeoCauRE I :,
I JG:, SIIEIe: ASPAAR:, TAlAeG:, JAUICN:, haNaNT:, 38 T
9Ed: ORI 379 N A | AcAAIGAATIGRI HEAUd:
feeqiaealacarer:, Gepaiaealidedrery:, Hefi-faeardis @@ AT o
faferserfa o= HecaT|

AaTeIaeTH 37T AT -

) q}—znﬂa?-gmr:
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9ol ufscar sreanfafésesy ey ﬂaga;cdi qad -

37eficT I AT FARMMEATIAD |

SFEHAC o ST i FATH I ||

FHEITI ThATY AT GO AAGTFIATT A onTH |
AT G I TAON SforaT starstel qofie ||

ANIA: TAd EROH |



URTSE ufScar Yol YgdHc’ Faad -

YA ATdICTAAgS ATH Teh: RIRANIT: dTeehlel: Jadd| T: TEITA:
faferdcar eeTeaeT qeW: M| 9T I T SidTelelleitd Sied 3787
STATEXET AT A TaEWTAT eanffer Tagerstaar o Afger 3mdal Rar
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yedl Ireardl AR didfeided: | 379 o [AfeaagRar®dor areehlell &l
FIANAT| TAET SNaered TJGATIOT 3iTelleli HRIENSIT
ST | FAageear svorerecar fafdeseiasaes, Hefaar,
TICUAHFAT T 31 ATAET RO HEIAGY IReTfora: 3rerad) st
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37| 3 HETol AWeIseTac| A, fUd: garor g afvarty,
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FFHIET fgede TaR 989R 9 fafgaasd: | FogdurEr @,
HITAI 9, STITCIre: USHIART:, THAG:, JeHIGNT:, SHIRGRT:, T
J8d: TR 31T 30T 37T | AGAAIGAATAA I FEATUd:
feeqlaraiaearer:, aepaiasaidegrod:, Hrefi-faeamds o A=
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dwﬁrgﬁmd‘ﬂ L YA ©e: |
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? ofede afscar weAEd AEHcH I -
AT ANAIATAEE ATH Ueh: FHIHIIT: rehlel: AT T: TEIT:
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STATEET AT A TaERIAT aiffdr Taeerstaar o Afger 3mdql far
SAATEIET TeTTee Ueh 9Usdd Ueh O Hledl Aloiddlsl] Td sy Ud
3718t fR=Erensi, TSNl 3G3IST o YIrued faelcdle]| ST Sare:
SToluseel UiUIalsstad| aF g facarery 3rat femaererdl aF o SRTx
dedl WrearEl R idfged: | 319 o fAfIcgagRa®qor arehrell #car
FIANHAT| TAET SNGeEd AJGATHOT 3eAlell HRIENSIT
S Al-asde] | TaAIageear STl [afdusmaiasaes, Heiar,
TICUANFT T 3T THERT ARAET HEIoIY TRAOT: 3eqacy| 34t
HGTCANTY: TSy | HGTHARNSY T TARAET TAATETHAT
3787acl| 36! HEle S@RIsHAd| JHTcASAT, Uq: g=1for g3 ufdara,
ARAEAT-AYUTH- S Tdfea@drfe qedeia faeafasaegsras]
¢Re dH ¥ AAGMAT: STRAGAH 3Tehlecided:| gl e STaReTd:
HETHodtc: 378Tdc| 3T FEIISTaET RNIed: FEGIINOT 377dc| foho]
e @ Shafd’ sgFalicar @ sIRdAY sfdg@ 31eRde yredars|

SATEET ATl FTa&IET Seeft 3Ed-

) T TR
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Correct Answer :-

Topic:- Mathematics (MAT)

1) Which one of the following statements is true about integer? /

Frafafed ¥ @ S19-91 $3= e & 6y § qa 22

1. On multiplying any integer with 0, we get 1. / 0 % 1Y fit +ff quifes Y oM A WR, &F 1 U el B

2. On multiplying any integer with its multiplicative identity, we get 1. / &Y s quiies @1 3@®H IUNCHS TcHAD & Y IOT L W, & 1 UE @il gl
3. For every integer, 0 is the additive inverse. / Ucd® quiis & forw, 0 veh AeMeAd gfaad &

4. On dividing any integer except 0 by its additive inverse, we get-1. / 0 @I DIz fhell off quiier A TP AMcAD Uidad T AT S W, gef -1y @ar
&l

Correct Answer :-

« On dividing any integer except 0 by its additive inverse, we get-1. / O & BizaR R o1 quites & 3a% AeTcAs gfaas & AT & w, & -1 | gar
2l

2) If an amount of Rs. 1368 is distributed amongst 24 persons, then what is the amount that each person gets? /
I 1368 TUA Tt YFRI 24 A & i faafva ot S 3, @ v safea o frat afn forercdt 82

1. Rs. 122 7 122 %uU

2. Rs. 53 7 53 ¥qu

3. Rs. 153 7/ 153 ¥Uuw

4. Rs. 57 7 57 ¥UuU€

Correct Answer :-

e Rs.57 7/ 57 ¥qU

3) Afigure on a graph sheet covers 12 fully filled squares and 7 half filled squares. Find the total area. /

T I XMt TR TH ATHST 12 T & Tt g A HRaT B SR 7 a1 1 3141 WRel ¥ | o &A% F1d B
. 9% sq units / 9%63”[ EHE

, 13 L sq units / 13 2ot g
X 152 sq units / 15 2 aef sorg
4. 19 sq units / 19 T ZHS
Correct Answer :-

152 sq units / 15 >aef g

4) A floor 4 m long and 3 m wide is covered with square tiles of colour blue, green and red. One-fourth of the floor is covered with blue tiles of side 10
cm. Another one-fourth of floor is covered with green tile of sides 15 cm. The remaining area is covered with red tile of sides 20 cm. Find the number of
blue and red tiles used. /

4 e daT 3R 3 Tiex 9eT U BRf 19, 8 3R a1d W1 & TER ergal A edT §31 81 BRI BT U HIUTg W 10 At &t oot aral Ntk ergal & 2ot gan 81 Wi &1
wgaﬁuﬁmﬁ@ﬂaﬁwaﬁﬁwaﬁmﬁﬁmgm%lmaazoﬁummﬁmasﬁ%mgm%lwmw:ﬁaeﬁvmmﬁaﬂm
EUCK 3]

1. Blue =300, red = 150 /



el = 300, o = 150
2. Blue = 300, red = 200 /
el = 300, @ = 200
3. Blue = 150, red = 300 /
el = 150, &l = 300
4. Blue = 150, red = 200 /
el = 150, &l = 200
Correct Answer :-
¢ Blue =300, red=150 /
el = 300, @ = 150

5) Ages of Rahul, Rohan & Ram are 10, 6 and 13 respectively. The sum of their ages will give Rajeev’s age. Suma is 5 years older than Rajeev. What will
be the age of Suma after 3 years? /

g, A5 3R IH FT 3G HUR: 10, 6 3R 13 T1 ITP! MY BT T el Pt 3MY 81 AT, Toa A 5 99 931 1 3 6T a1g AT B 3y et ghftz

Correct Answer :-
. 37

6) Another name for Formalism is ./
WREUATE (BiHreT) & forg o A 21
1. Abstractionism / 30T (Veegarerfasta)

2. Deductivism / f23fFefasa

3. Logicism / dhafeehaTotddre (eiforihes)

4, Induction / SR

Correct Answer :-

« Deductivism / BefFefaea

7) If the radius and height of a cylinder are in the ratio 5:7 and its volume is 550 cubic m, thenitsradiusis______ ./
Tfe U A F Bieur au1 FA1E $1 3Ud 5:7 § 9T $HBT S1a 550 T HieR B, oY st Bean |

1. 6cm/ 6 QAT

2. 7cm/ 7 Q3

3. 5cm/ 5 ¥

4. 45cm/ 4.5 @A

Correct Answer :-

=x2+ax+b

8) If the zeros of the polynomial p(x) are -2 and -3 then % and b are: /

qﬁmp(x}=x2+ax+ bTﬂW'Z 3R -3 %,Eﬁ'alzﬂ'b?:

1.5&-6/5Td -6



2.5&6/5Wd 6
3.5&6/-5Td 6
4,-5&-6/-5Td -6
Correct Answer :-
e 5&6/5Td 6

9) Which of the following explains the commutative property?/
fFraferfEa ¥ @ $19-a1 spufafrig o1 #Y aren S 82

1. 103 +(25-35)=(103 +25) - 35

2. (ath) = (b+a)

3.35-22=(22-35)

4. a(b+c) = ab+ac

Correct Answer :-
* (atb)=(bta)

10) Which one of the following statements is correct about number? /
Frafafed & & $19-9 $37 Sen & Hdy § 9 8?2

1. Every number is a factor of one. / TS T Uh Pl UCh Eﬁ?ﬂ %I

2. 2 is the only odd prime number. / 2 THHTT faww sy W%I

3. 2 is the smallest prime number. / 2 TI& B IS TEAT &

4, One is a prime number. / 1 T U T %I

Correct Answer :-

« 2is the smallest prime number. / 2 Tg B JHST TEIT ¢

11) A frog falls into a well of 12 meter depth. It tries to jump out. Each times it jumps up it jumps as high as 3 meter but slides down 2 meter because of
slippery wall of the well. In how many jumps will the frog reach out of the well? /

T Hed 12 e TeX TP 3T # FRar 81 98 S1ex e 9 SR o3t ¢ | T® IR 9d I Fadl ¢ af Ig 3 HIex SR Ugd o1l ¢ qfdp S & fewer areft
AR F PR 2 Wex == fraa orar 81 $U @ 916w e & R1e Hew & fHa-il IR Bear u3m?

12) 14 ALMN 2M=70° and LM=NM. Then ~N= /

ALMN &, #M=70°Td LM=NM g, al 2N=

Correct Answer :-



13)  Which of the following is not the solution of the equation F§x+5'? !

ﬁmﬁﬁaﬁiﬂraﬁﬁrﬁmﬂy:gﬂswma—ﬁﬁ?
1. (4,19)
2. (-6,-16)
3. (-12,-37)
4.(-8,23)

Correct Answer :-

14) Ifz+%=ﬂandax—by=az— b? thenx &y =2 /
'ﬂﬁg+%=0(’ﬁax—by=a:— bz'a,(_-ﬂ'xt'a_’y=?

_alia""+b") = b(and- b"‘)

1 al-b? 7 a?-b?
_afa®-b*  bb?-a?)
T aT+bR wH= a*+b*
2.

3. x= a(a2+b?), y = b(a%-b?)
4. x=a, y=b
Correct Answer :-

- ala?-b?) = b(b?-a?)

a?+hb? w¥E= a®+b?
15 :
) Ifx+i=Zthenthevalueofx—}l—cls:.-'
afe x+i=28% @ -1 @ AR &
x x
1.2
2.0
3.-3
4, -1

16) Ty angle which is 24° less than its complement is: /
TE HIUT AT HTeT THGRE T 24° FA o

1 57°

5 47

33e°



24e
4 24

Correct Answer :-

17) Find the number of line segments required to make a honey comb structure with 20

compartments arranged linearly? /

I@F §7 F cHafeud 20 FISel arell Uk AU WA g9 & O 9dh
Y@rEst & JEdT A w2

1. 100
2. 105
3. 101

4. 120

Correct Answer :-
« 101

18) ? ”q and [ be the transversal. £1=61° then £2=7/

p ||lg T v 5w X@T 81 21=61° §, 4T £2=7

61°
118°
60°

o
4 119

Correct Answer :-

119

19) Iy a parallelogram ABCD if ~ CDB=45° and » DAB=65°, then ~CBD =7/
UF AW agssl ABCD #, afg ~cDB=45° 3R ~DAB=65°%, T £CBD =2

1+
4 70

Correct Answer :-



20) A number ‘a” divides 1320 and 781 exactly. Given a1, then the number “a’ is not a factor of
f

ua—'aurr a’ 1320 3R 781 &1 qofer Renfora et 81 221 &am o 8, & ser o
__ T geo 6T Bl

1. 2101

2. Itself / T

3.539

4. 125

Correct Answer :-

21) In atriangle ABC if 2ZCAB=70°, and AB=AC then #B and 2C are /
U TAfeT ABCH, ITg £CAB=70° 3R AB=ACR, o «B3R 2C§:

80°, 80°
35°, 80°
550,557

4 20°, 80°

Correct Answer :-

22) Ifthe sum and product of whose zeroes are 2 and —% . then the quadratic polynomialis ./
afg T 3R 3EF et F aoEed 2vd -2 8 ar g agug el

1, 5%%—10x—3

5 5x?+10x +3

3 5x?+10x -3

4 ¥2—10x+3

Correct Answer :-

Sx?—10x —3

23) | R, N Jafe 246 -2 E];I T x=

3-9%x 3 3—9% 3

1.2

2.1

3.3

4.4

Correct Answer :-



24) Choose the number divisible by 9. /
9 | fyuiiora g9 arell W& &1 999 $¥ |
1. 9987123
2. 3425816
3. 6789548

4. 4536279

Correct Answer :-

e 4536279

25) Find the value of m, if one zero of the polynomial (m? +4)x? + 65x + 4m is the reciprocal of the other: /
afy ggug (m” +Hx” +65% +4m o1 s AP 3T BT HHH B, A m BT A T PR

1. \-'I'E

— 43 29
26) Find the value of m if (x-1) is a factor of plx) = x* +6x 2x—5m. /

gfy P¥) = 2% + 657 — 22 — SM g1 g (x-1) 2, @ m BT A FIA B

27) Find the whole numbers. / {UTWT T B

16 x 8725 x 625
1. 87,389,600
2. 87,250,000
3. 83,760,000

4. 87,110,000

Correct Answer :-

« 87,250,000

28) James is inside an aeroplane flying at a height of 7000 meter above the sea which is below sea level at a level. At a particular point, it is exactly
above a submarine depth of 1/ 6t the height of plane. What is the vertical distance between James and the submarine? /

R TP FATSHETS & 3e¥ § o UGS ad | 7000 Hex F HA15 W I @1 81 U@ 999 g W, 98 0 vigsdl & Si9 SR & ol garswie™ & 1/6 HaT5
Rt ws ad & R ¥ 1 O U9 wge & A SHeafer gt fhat g2

1. 8333.33 meter / 8333.33 #IX

2. 9166.66 meter / 9166.66 e



3. 9333.33 meter / 9333.33 #HieX

4. 8166.66 meter / 8166.66 HeX

Correct Answer :-
e 8166.66 meter / 8166.66 HeX

29) Anil is 6 years older than Akhil. Akhil is 36 months younger than Vijay. If Vijay’s age is taken as y, then age of Anil is: /
3 g 1 & 6 af 7e1 81 3if%a omg # faera & 36 wEH ©ier 81 af fava #Y ey y ¥ &0 # ot ol €, < aifvrar &Y g @:
1. 6(y-36)

2. 6+(y-3)

3. 6+(y-36)

4. (y+6)

Correct Answer :-

30) If 76x — 189y = -37 & -189x + 76y = -302, then find the value of x and y. /
Tfg 76x — 189y = -37 T4 -189x + 76y = -302 §, dl x Td y & WM 7 B
1.x=-2,y=-1

2.x=-2,y=1

3.x=2,y=1

4.x=2,y=-1

Correct Answer :-

31) ‘Mahabhaskariya’ an astronomical work completed in eighteenth century is written by: /
HRTHRSY’ SreTed! Rraredt § gut frar wan ues @wiea & § ot R v mar @1
1. Aryabhata - 11 /311'394@ -1l

2. Sridhara / #1%R

3. Bhaskar Acharya / HT¥h TR

4. Ramanujan / JTHTF ST
Correct Answer :-
« Sridhara / #TeR

32) are related to growing plants. /
__ Sed i EER@ E

1. Natural numbers / Cﬂ?{?ﬁ?ﬁ &I

2. Real numbers / aTETeIe TEIATT

3. Fibonacci numbers / fraleYeh Heama

4, Rational numbers / TR&AT H&I@

Correct Answer :-

« Fibonacci numbers / Rraietdh &g

33) The length and breadth of a cuboid is 12 cm and 9 cm respectively. If the total surface area of the cuboid is 678 cm?, then the height of the cuboid
is: /



TS THTH F} @ R DTS HAR: 12 At ok 9 Wit B1 e o=y &1 pat ydia dawd 678 A2 R, oY oY oY ST #:
1. 15cm/ 15 @30

2. 11cem/ 11 J3f

3.6cm/ 6 THT

4,21 cm/21 @3

Correct Answer :-
e 1lcm/ 11 @Y

34) The sequence of steps for mathematical modelling is:
1) Understand the problem.

2) Mathematical description and formulation.

3) Solving mathematical problem.

4) Interpreting the problem and validating.

| TR yfeRer (ATsfinT) & fRIg =N &1 o/ gwy &:
1) U /U B US|

2) TR faRor 3R e

3) T U/ THATS BT JHTYT HATI

4) U/ T Bt AT T 3R ARG ST
1.3,2,1,4

2.1,4,3,2

3.2,1,3,4

4.1,2,34

Correct Answer :-

35) The main body of the lesson plan is based on the Herbartian principle of: /
TS TSI BT T HIT ¥ g Rria R st 31

1. Presentation / ‘Rﬁﬁ

2. Conclusion / ey

3. Introduction / TR=TT

4. Association & Generalization / i 3R Fredeor

Correct Answer :-
« Association & Generalization / Tf& 3R re==fIenoT

39y3(50v2 — 98) + 26y 3(5y + 7

36) Simplify:- )/

T 39y3(50v% —98) + 26v2(5v + ?)
1. 2y(5y-7)

2. 3y(5y+7)

3 3Gy -7)

4 2vGy+7)
Correct Answer :-

. 3Gy =7

37) Two triangles ABC and DEF are similar and the ratio of their areas is 25:9, then the ratio of their corresponding sides is.

31 Y™ ABC Ud DEF THFY & a1 5% &A6d BT 3UTd 25:9 §, df 3AST TId Yoiait BT rgurd |




1. 4:5

2. 53

3. 35

4. 5:4

Correct Answer :-

¢ 53

38) If mean and mode of a data are 11 and 8 respectively, then median=____. /
R v e F AT AR agews Fow 11 awm 8 § A AfEaw = R
1. 10

2. 11

3.8

4.12

Correct Answer :-

39) In a parallelogram ABCD, DC = 16 cm. If the altitude corresponding to the sides AB and AD are respectively 8 cm and 10 cm, then AD=___.
/

F FAE TG ABCD #, DC = 16 ¥+t 31 A W ¢ AB U1 AD &Y 3§ Fover: 8 Wolt aum 10 @ ¥, AD=__ |
1.16cm / 16 QA

2.12.5cm / 12.5 Q=

3.12cm / 12 @&

4,12.8cm / 12.8 @3

Correct Answer :-

e 12.8cm / 12.8 T

40) The mean of 25 observations is 36. If the mean of the first 13 observations is 32 and that of the last 13 observations is 39, the 13t gbservation

is: /
25 W&TOif T ATET 36 ¥ AT 9ger 13 WaTUil T ATET 32 UL ifaw 13 Wayoit 1 Aew 39 &, aY 13af Yayor &:

1.22

41) What is the ratio in which the join of A(-4,3) and B(2,-6) divided by the y-axis? /

TF AT F4T §, oA g A(-4,3) T B(2,-6) F Framer arel Y@ y-aret @ fenfaa ek 82
1. 1:4

2.2:1

3.1:2

4. 4:1



Correct Answer :-

42) Construction of altars for the sacrifice, applying geometrical facts to perform duties by fixing east-west was assigned to the ./

afee & fav aRaEt &1 fsfor F1, gd- ofes #t R #d gu Fdedl #1 @ & F RAe safrdy qual & aep F@ #1519, Y gar
=T

1. Sulbhakars / geeTehI
2. Aryabhatta / 3T HCC
3. Bhaskara / #TERT

4. Brahmagupta / STeTa[d

Correct Answer :-

« Sulbhakars / FeeThT

43) Three cubes each of edge 4 cm are joined end to end horizontally, then the lateral surface area of the resulting cuboid is: /
49 RpRT are et wer 1 sifaw g Afas w7 @ 3 ge ¥ o aRomH ww T ard A awe ¥

1. 120 em?/ 120 2

2. 150 cm?/ 150 32

3. 128 cm?/ 128 a2

4.95 cm? / 95 a2

Correct Answer :-

+ 128 cm?/ 128 ¥eh2

44) Which of the following is an example of a cubic polynomial? /
frafaf@d & & Fla-a1 o qgUg F1 v Jaer §?

1. X543

2. x%+x

3. x3+x

4, x*+x3

Correct Answer :-

o X3+x

45) describes steps or a set of do’s and don’ts to a method or strategy. /
T A a1 Efa & o a1 de F F v A€ w1 oI FT ¢
1. Technique / ddele

2. Tactics / gﬁ?
3. Method / fafQY

4. Approach / 3UTITH

Correct Answer :-

o Technique / Teheiteh

46) The equation of line passing through (2,3) and parallel to x-axis is .



39 3@ &1 FHEHIOT g S (2,3) ¥ QX TR § AT x-37&T F FAWAK gl

Correct Answer :-

y=3

47) The respective positions of three friends A, B and C are (3, 2), (6, 5) and (9, 8) respectively. What does the three points joined together make? /
@ 2t A, BTE C & Hafta T Faan (3, 2), (6, 5) 3R (9, 8) E1 et faeg v @y Maaw w41 Fanelt 72

1. An obtuse angled triangle / T JfAepor ﬁHGT

2. A line segment / Te YT TS

3. An equilateral triangle / & GHaTg Ay

4. A right angled triangle / T DI ﬁ'ﬂ,\_ﬂ

Correct Answer :-

« Aline segment / T W1 TS

48) One among the below does not belong to creative behaviours and that action verb is ./

5 # 9F WACAF UTER & Hegy ¢ @ar § 3R a§ fraens TR &l
l.reconstruct/ga':ﬁ?ﬁ'UT

2. design / FieheT

3. compare / el
4. alter / afRada

Correct Answer :-

* compare / Jeler

49) The radius of a circle whose circumference is equal to the sum of the circumference of the two circles of diameters 36 cm and 20 cmis ./
wwga e R Fowd oRfY 36 At aur 20 @ = arer & gel Y R & e & e B

1. 56

2. 24

3. 28

4. 14

Correct Answer :-

50) Three-dimensional topology is a branch in mathematics which is more related with ____./
et 3mars wifeufa (@aarst), foa # v ararg ¥ fT wafa B

1. Biotechnology / ota gtafareht

2. Economics / 319ME

3. Chemistry / {THIIA IEGIGH

4. Physics / e e



Correct Answer :-

« Physics / M e

51) The major aim of mathematics education is: /

arforer fRvam &1 W@ 3G §:

1. Preparing for competitive exams / ufarareft a3t & forw =y aar

2. Mathematisation of the child's thought process / I &Y fa=IT UfshaT &1 a1foTcdertor
3. Solving problems /CP}ﬁEﬁW'IHT

4. Improving computational skills / FITOTATCHD hieMel H FUR AT

Correct Answer :-

. Mathematisation of the child's thought process / a<d &I faaR gforam &1 oI T

52) ‘Micro teaching is a scaled down teaching encounter in class size and class time’ was stated by: /
TSI FRRTOT, FaT & ITHR 3 FaT & T A Meordes fragaare’, 58 F @R Far1 41l
1. Piaget / TOarar

2. D.W. Allen / 3.3y, Teld
3. Gagne/?ﬁ?f
4. Bruner / s}

Correct Answer :-

. DW. Allen / 81.3¢cg, Told

53) Which of the following is considered as the most suitable approach in mathematics curriculum organization? /
frafaf@a & & BFd afa Tgaws sgavw # waw 3UgFT TiCHOT AT AT 2

1. Psychological / FAATAD

2. Topical / aHARE

3. Unitary / UdblcHD

4. Spiral / @O

Correct Answer :-

« Spiral / A

54) Which of the following is related with Cognitive Domain? /
AT & § Fi9 daeeAs a7 ¥ Feita §2

1. Valuing / TIEE?EH

2. Applying / ©ITI] IAT

3. Receiving / I&UT T

4. Responding / gfafsrar gar

Correct Answer :-

* Applying / o[ &I



55) Which of the following aim of teaching mathematics help the individual to become self-reliant and independent? /
70T T & Arfaf@a 3qgedl # ¥ Fla @1 35207, =afFa #t wrenfn 3k Faad a0 7 #gg Far
1. Disciplinary / 3JRMHATCHER

2. Utilitarian / 3g@aft

3. Cultural / HREPIdH
4, Social / HTATTSIH

Correct Answer :-
« Disciplinary / 3JHATcHD

56) Item analysis is a quality assessment strategy to prepare ./
e faweryor TR F¥ & 1Y T Turawn Jeaie I 3

1. Question bank / U5 CC

2. Evaluation / Hgaiehet

3. Examination / UR1&TT

4. Student performance / BT UG

Correct Answer :-

« Question bank / U d&

57) Express 486 as a product of powers of prime factors. /
486 1 AUTSY UIH] & °Td &b UHGT & & H g 1|
1.3°

2.12 x 53

3.21x3°

4.53x2

Correct Answer :-

o 21x35

58) Jeevan fills a wall in his room with the photos he took. The size of a photo is 21 cm by 18 cm. If he uses 6 photos, then what is the area of the wall?

/

e A 3" FHY Bl T AR DI WY gRT ot T aEdR] & W f3a11 Teh de iR &7 TR 21 A x 18 A} 21 T 98 6 TR} BT SUGNT &l §, ot SR
BT &P fPaT &2

1.2068 sqcm / 2068 A
2.2268 sqcm / 2268 TIRA
3.378 sqcm / 378 It I

4.2334sqcm / 2334 GO

Correct Answer :-

e 2268 sqcm / 2268 TAA

59) Area of a quadrilateral ABCD is 35 €M The length of the perpendiculars on its diagonal BD from A and D are 3 cm and 4 cm respectively. Find the
length BD. /

TGy ABCD &7 &t 35 T2 81 A 3R D | 3HF fqhul BD WX &d &1 daTs svu=T: 3 A 3R 4 J1 81 BD F waTs F1d B
1. 10 cm / 10 &Y

2.15cm/ 15 @3



3.25cm /25 @i

4, 12cm/ 12 |

Correct Answer :-

« 10cm/ 10§

60) ppx® —3x+ 2isafactorofx4_px2 * 9 then find the value of ’ and 7 /
af = px? + grgag ¥ - 3x + 23 @ P 3R 11 O E B

1.]r):5,ql =4

2.p==1-,q =3

3.p=2,q =1

4P=33=2

Correct Answer :-

p=5,9=4



